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1) Find all critical numbers of
(x) = x3 —3x% —9x

2) Find the absolute maximum

of:f (x) = ()™ ***
on interval [—1, 2]

3) Determine where the function
is increasing of
f(x) = cos?x on interval [0, ]

TRl akal) Al 3 (2
A b f(x) = (€)% +2xAN
[_11 2]

Ajall 4y 33l <) 438 aag) (3
[0, ] 3540 2 f(x) = cos®x




4) Determine all local minimum Alall Ldaal) (5 pual) addll 2 4f (4

f(x) = xe™** f(x) = xe™**

. 1 . g :
A)  locl minimum at x = —o 4 dla g

“-ul?/ -.I.1 . - -
B) locl minimumat. x F 5 e dalaa g ta

C) lo¢l minimumat: x =0 3= 3—#* S

D)\\_";'locl minimum at x = 1 34l s jiua

5) Identify inflection points for the ANl i) Bl das (5
function 4 1

4 1 f(x) = x3 + 3x3
f(x) = x3+ 343

A) (0,0)

B) (-1.5,21.72)
C) (15,5.15)

D). (1.5,5.15), (0,0)
9 ] et B
6) Determine the intervals of the.: Al Jaul jaEal) ) 38 s (6
function is concave down

A) concave up (0, ) .
B) concave up(—o,—1) U tl ,00)

C) coxcave up (—1 1)

D)., concave up (~00,0)

L L L L
T T T T
-2 -1 1 1
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7) Determine all vertical and ¢ 488 g A N o JM‘ b ghi sas (7
horizontal asymptotes f (x) = x?

x?—4 24x-2
fx)= %2+ x—2

8) Suppose that the charge in Al 4 3 yilal) @ ) o (2 B e (8
electrical circuit is Q(t) = e*(3sin 2t + cos 2t)

Q(t) = e'(3sin 2t + cos 2t) O aa | alss
Coulombs. Flnd the current.

A) Q' (t) = et(6 cos 2t — 2 sin 2t)

B) Q\({te) = e'(sin2t + 7cos 2t)
C\):;‘,iQ’(t) = e!(5sin 2t + 7 cos Zt) :

Q'(t) = e'(2sin2t + 4cos2t )

sin x

9) Evaluate [ —

A) cosx+c

&
¢

B) —cscx'+c
N
C) secx+c

dx

Dy’ | In|1 — sin’x| % c




10) Determine the position function || 4s judl 413 ClS 13) ada gall 413 338 (10
if the velocity function is (sl

v(t) =1-6t ft/s* ,s(0)=5 v(t)=1-6t ft/s* ,s(0)=5

N
A S)=t—6t>*+5
B) S(t)=t—-3e2+5 °
C)xiSi'(t) =t — 3t?
N :

D) S()=t—3t+5

11) Write out all terms and g sanall 22 a3 3 gand) asaa i8I (11
compute the sums > 1(3i%2 - 2)

>1(3i% —2)

A) 2i5=1(3i%1:f—" 2) = 1+10+25+46 +73 = 155

B) Y 4(31 —2)—5+14+29+50+77—175 |
9N Z 1(31 —2)—(3+12+27+48+75) 2—163

D)’ y5_,(3i2 —2)——Z+1+10+25+46+73—153
12) Use the given function values to EAM J-‘m NM‘ 3\4‘43‘ aﬁ eM\ (12

estimate the area under the curve
using left endpoint evaluation

A) A=10.2

B): A=3.06
C) A=3.60

D) A=1.53




13) If f(x) —{ dx izzz Compute fff(x)dx
A) 5 7
B) 24 .
© 29
D).’'19

14) Find a value of c that satisfies | (2 4w sialldall 4, i ‘\-‘-'9 gl (14
the conclusion of the integral Adjall Jal<il)
mean value theorem f21(3 x% — 2x)dx

f_21(3x2 —2x)dx =6

e

A) Ave‘rag‘él =T

B) Apé;ﬂage =

O,

T
'Average = =

g _2
2T

D) Average =

4 1
15) Evaluate j (5xvVx + ;)dx

A) 66 + 2In2

B) 624 2In2

C)«64 + In4

D) 62 — 2In2




Part II :-
16) A two-pen corral to be built. The outline of the corral forms two
identical adjoining rectangles .If there is 240 ft of fencing available. What
dlmensmns of the corral will maximize the enclosed area.
b Cufiia g Pihuadlia 0 a A a gudia g JSAY Jaltins Jibaa) Ela Jas 3130 (16
- g La S ASaluaa (9S50 i) o) 33 240 FE glondd ol oS 13 Aabuaal
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17) A car is travelling at 50mph due to south at a point % mile norh of an
intersection. A police car is travelling 40 mph due to west at a point
1 mile east of the same intersection. At that instant , the radar in the

pollce car measutes the rate at which the distance between the two cars is
changing. What does the radar gun register?

J.wu¢&hl§ﬂ\dw mlz\.h&muw\oha\uQSOmph@JwaLqu 17
an 3, ckm‘u-“‘-‘dﬂzml ki die o gl slad) A 50 mphis jew Aoy 5

Wgﬂ\kﬂ\u,Qng\w&w\zﬁdm&ﬂ\SJl,wgé.Juu\u@M\
?WSJM‘&;J“SJ“U‘“ ol A lal

18) Suppose that a population grows according te‘the logistic equation
p'(t) = 2p(t)[7 — 2p(t)] .Find the population for which the growth rate
is a maximum
p'(t) = 2p(D)[7 — 2p(t)] Adtaddy Jany sl sl of g2 b e (18
o alind) el g2 galll Jana 4 (9% (s A) Al andl) 2 ) aladiualy Aty ll) Alstaall




19) Use Riemann sum and a limit to compute the exact area under the
curve f(x) = x? + 2x on the interval [0, 12].
F(x) = x2 + 2x Aadall il 48841 dalual) 2 5 Ailgdll g (layy £ gana aladindsy (19
X . [0, 2] 8adb &
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